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The first method _ Write the program in C++ that simulates the sub - task of Lexical analysis phase to

build the Lexemes table (cutting the source program into the Lexemes (main -task)— Using Four
Arrays).

A virtual representation of address locations in Four arrays, counters, and the number of Lexemes
inside the computer (on paper).

Lap.1.1 Individual assignment during class: The second method _ Write the program in C++ that

simulates the sub - task of Lexical analysis phase to build the Lexemes table (cutting the source
program into the Lexemes (main -task) — Using Three Arrays). (swhad| Jala wsald)

Lap.1.2 Individual assignment during class: The third method _ Write the program in C++ that
simulates the sub - task of Lexical analysis phase to build the Lexemes table (cutting the source
program into the Lexemes (main -task) — Using Two Arrays). (skad| Ja s wsal)

HW. (5): How to draw a virtual representation of address locations in Three arrays, counters, and the
number of Lexemes inside the computer (on paper).

HW.(6): How to draw a virtual representation of address locations in Two arrays, counters, and the
number of Lexemes inside the computer (on paper).
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char Lexs table[100][10];
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How to draw a virtual representation of address locations in Three arrays, counters, and the number of
Lexemes inside the computer (on paper).
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How to draw a virtual representation of address locations in Two arrays, counters, and the number of
Lexemes inside the computer (on paper).

THANK YOU




